February 01, 2018

;v up H\N ﬁ

Warm Up Questions
\_ SppT L _

’ Given the parent function f(x) = x? ﬂ = (x3)
® carry out the following transformation.

-

"Vertically stretch by 4, horizontally shift right '\j .
3 units and up 1 unit."

a) Sketch the new function
b) Write its equation.
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General Equation:
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1 / y is the height at the
\/Q : given angle of rotation.
: y is the horizontal base
7Z N\ length at the given angle
ad - of rotation.

V / / y is the slope at the given

/l / / ¥ angle of rotation.

angle
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How would you sﬁiﬁ the ﬁmc’a’on up k units ?
How would you sﬁzfr the ﬁmcu’on rigﬁt h units ?
How would you vem’caﬂy stretch or shrink the ﬁmcu’on ?
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https://www.desmos.com/calculator/oiuok7oy3x

https://www.desmos.com/calculator/ac1n2gzubx
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A veritical shift, up 2 units
& vertically shrunk by 0.5
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A reflection across the x-axis and a
vertical shift down 2 units
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A reflection across the
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(3 Y= cos(x), Vertically stretched by
1.5 and up 2 %: m COSM +7

if you finish early

try to solve SCREAMER 2
- 14
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Sketech 3= S M (x) - 20

Oletch U= 0 6+
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